I. Chapter 83 is about Christopher’s seramds ……………. for the reufut ………….... He would like to be an astronaut. 
Find three reasons here : 
1)
2)
3)
Which animal would he like to take with him ? Why ? 
II. Chapter 89 focuses on the relationships between the Shears and the Boons : Right – Wrong 
Christopher explains that his father wants him to resume his investigation:
 Right – Wrong
Siobhan comforts him by saying that not all mysteries are solved in real life: 
 Right – Wrong
Christopher’s father is convinced that Mr Shear is a very good person:

 Right – Wrong
The next two days are Black Days as Christopher saw four red cars in a row: 
 Right – Wrong
III. In chapter 97, Christopher decides to have a chat with Mrs Alexander because 
a) it is a Super Good Day 
b) it is a Black Day 

c) it is a Grey Day
Why is Mrs Alexander surprised to hear about Christopher’s mother’s death? 
a) she knew her illness was serious but she thought she would survive. 
b) she didn’t know anything about her illness and death.   c) she knows it is a lie.
According to her, it is pretty obvious that Christopher should know ... 
a) the reason why his father hates Mr Shear 
b) the identity of Wellington’s murderer 
c) the truth about his mother’s death
After being told the truth about his mother and Mr Shear, Christopher is …
a) upset 


b) relieved 

c) devastated
Answer the following questions.
– How does Christopher find a way to continue his investigations without breaking his promise to his father? Justify your answer by quoting from the text.
– How does he give himself a way out of his promise to Mrs Alexander?
– Have you ever justified breaking a promise or telling a lie? How?
IV. After reading Chapter 101

In this chapter you can see that Christopher has a very logical mind. How logical are you? Read the logic puzzle below. You might be able to work out the answer, but, if not, your teacher will help you.
Draw a diagram, like the one Christopher uses to explain the Monty Hall Problem, to help you to understand the answer, or to explain it to someone else. Now try explaining the problem in a few sentences of writing. If you are good at maths, you could also explain the answer using a formula.
Here is the logic puzzle : 

Lara Croft stumbles across the legendary treasure house of the lost city of Tenbar, guarded by two immortals, each standing in front of a door. There is only one problem: behind one door she will find the piles of gold she has heard such incredible stories about; behind the other, poisonous snakes. She knows from the legend that one guard will always tell the truth, and one guard will always lie, but she doesn’t know which is which. She can only ask one question of one guard to help her decide which door to open. What should she ask? 
V. Find words to complete the blanks in this summary of chapter 103
Rhodry w…………… for Christopher’s father. He likes t…………… Christopher by asking him to solve difficult p…………... and that m…………… him laugh. His father says that it is being f……………. Mr Boon wants to prepare an I…………… dish for his son. The problem is that Christopher hates y…………… so he has to put food c…………… into it. 
Concentrate on the picture of the cloud p. 86. What is funny about it? 
